Here are some brainstorming ideas I was thinking of for the quiz:  

 Do give me a call so we can talk these over so they make sense…

Min Meets:

· identify the simple machines, eg the bottle opener

· recognize the  kinds of lever 

· identify the change in distance to force

· Draw examples of each simple machine..

· Identify 2 of Newton’s laws 

· Make a simple graph- may contain simple errors. Make obvious conclusions

(Meets)

· ID simple machines in pictures that contain 2 simple machines eg. the can opener below 

· Create a labeled diagram of a simple machine- showing parts.

· Create a labeled graph from data and make a simple conclusion

Fully Meets

· recognize the kind of lever in a new example (eg. Car example below)

· recognize simple machines in new or more complex examples

· have students identify the distance into force in a more complex example eg the truck going up the hill & wheel & axle.

· Identify 2 of Newton’s laws in a picture.
· Make a conclusion and errors from a graph made from supplied data.

Fully meets/Exceeds

· identify non-examples 

· Eg. Wheel & axle in inclined plane example with man below or the Eqyptian pulley

· Create new example showing Newton’s laws.

Possible screen capture from a video?

Here are some possible photos to use…
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bottle opener-

min meets: lever

Meets: 2nd class. 
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Meets: wedge
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wheel and axle. Lever also gear (a kind of wheel and axle)

Car going up inclined plane, levers, and wheel & axle (ask students to identify and label) 
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Meets lever,

Fully meets: 2nd class lever or wheel & axle

Exceeds: 2nd class lever and wheel & axle
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Min Meets: 

inclined plane, or wheel and axle, or lever

Meets:

2 simple machines: inclined plane, lever or wheel and axle, 

Fully meets: above &1st class lever, 

Exceeds- wheel & axle is not a simple machine because wheels are not fixed. 

Use a ruler and find the slope of this inclined plane. 
[image: image10.wmf]wedge and lever

min meets: screw 

Fully meets: screw and lever [image: image11.wmf]  [image: image12.wmf]
Exceeds: Girl’s shoe- not an inclined plane (no movement up the shoe) [image: image13.wmf] zipper – wedge
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(min meets), inclined plane or pulley- 

Meets 

inclined plane or pulley

Fully meets:

Above & Pulley changes direction 

Exceeds

Pulley does not change distance into force so not an simple machine. 

